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HER 43.0 (48.0,738.0) 2

FiE 2 33.5 (37.0,730.0) 1

FE2 33.5 (37.0,730.0) 2

#%B 35.5 (31.0,740.0) 1

4B 35.5 (31.0,740.0) 2

P 37.0 (37.0 ) 1 7

%10F » 2 11F



5L g5 1A FEsS5(U FHITEY) g P %
25 109069 Wz < 33.0 (38.0,728.0) 1
K3E ~ 33.0 (38.0,728.0) 2
BE 34.5 (36.0,733.0) 1
i 34.5 (36.0,733.0) 2
Ly 58.5 (62.0,755.0) 2
#5B 28.5 (31.0,726.0) 1
#5B 28.5 (31.0,726.0) 2
e 37.0 (370 ) 1
12 38.0 (38.0 ) 1
o8 B4 ¢ 43.0 (43.0/ ) 1 10
B 26 109070 w3 = 53.0 (60.0,746.0) 2 1
R 4 27 109071 Fi3 4r30-4 B — 48.0 (60.0,736.0) 2 1
-l = 4 31 109075 mE = 47.0 (60.0,734.0) 2
EER 38.0 (45.0,731.0) 1
BE 38.0 (45.0,731.0) 2
#5B 26.5 (35.0,718.0) 1
#5B 26.5 (35.0,718.0) 2
b 72 40.0 (40.0 ) 1 6
% 32 109076 #%B 50.0 (60.0,740.0) 2
2
% 33 109077 w#E = 45.5 (49.0,742.0) 1
EE2 455 (49.0,742.0) 2
#5B 55.0 (60.0,50.0) 2 3
34 109078 =% = 54.5 (60.0,749.0) 2
Al 56.0 (56.0 ) 1 2
35 109079 ®E < 58.0 (60.0,56.0) 2
EE 47.0 (42.0,752.0) 1
2 47.0 (42.0,/52.0) 2 3
% 36 109080 ##%B 32.5 (31.0,734.0) 1
#5 B 32.5 (31.0,734.0) 2 2
% 37 109081 )z < 56.5 (58.0,755.0) 1
HE ~ 56.5 (58.0,55.0) 2
wE 49.0 (60.0,738.0) 2
Figfm-4 5 - 48.5 (60.0,737.0) 2 4
47 109137 w#E = 59.0 (58.0,760.0) 1
FigpE-4 5 36.5 (43.0,730.0) 1
FER -4 5 36.5 (43.0,730.0) 2 3
g -4 48 109138 i+ 59.5 (63.0,756.0) 2 1
B oo® 04 109095 w®#E =< 59.5 (57.0,762.0) 1
ol 57.0 (57.0 ) 1 2
B oo® 20 109111 =®# = 41.0 (55.0,727.0) 1
B 41.0 (55.0,727.0) 2
5B 54.0 (60.0,748.0) 2 3
B - 26 109117 :Fig4-32-+4 5 — 58.0 (66.0,750.0) 2 1
B 29 109120 w3 = 59.0 (58.0,760.0) 1 1
B 37 109128 w5 = 59.0 (61.0,757.0) 2 1
B oo 41 109132 #%B 59.0 (60.0,758.0) 2 1
B 44 109135 3@ 53.0 (53.0 ) 1 1
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